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public class Coordinate { // EMNTULVELA extends Object AHd1DEHEEIND
public int x, y;

public String toString() {
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}

public boolean equals(Object obj) { // BIHDEA Object THAHI LITEFEE &
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}
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import java.util.Scanner;
public class Main {

public static int search(Object[] a, Object key) { // ZTD AV v RIFEE LN
for (int i = @; i < a.length; i++) {
if (a[i].equals(key)) return i;

return -1;

}

public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
String[] data = new String[5];

for (int i = @; i < data.length; i++) {
System.out.print("EE? ");
data[i] = sc.next();

}
System.out.print("H&RE? ");
String key = sc.next();

int idx = search(data, key);

if (idx != -1)
System.out.println("[" + idx + "] " + data[idx]);
else

System.out.println("ERTZ3™");
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